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Instructions :
(i)  All questions are compulsory to solve.
(ii) Question Nous. 1 to § are objective type questions. Each objective carries

01 mark. Marks of each question are given betfore the question.

(iii) Question Nos. 6 to 15, cach question 02 marks, word limit 30 words.
(iv) Question Nos. 16 to 19, each question 03 marks, word limit 75 words.
(v) Question Nos. 20 to 23, cach question 04 marks, word limit 120 words.
(vi) Question No. 6 to 23 have internal options.

(vii) There is no limit of words in numerical questions.

1 w fyew ghw: 1x6=6
(i) W & P fhE yerR B fear ¥ 7
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Choose the correct option :
(1) To which activity payment of dividend belong ?
(A} Operating activity (B) Investing activity
(C) Financing activity (D) Bad debts
(i1)  Which ratios are primarily measures of return ?
(A) Liquidity - (B) Activity
(C) Debt (D) Profitability

(iii) Which ratios provide the information critical to the long run
operation of the firm ?

(A) Liquidity (B) Activity

(C) Solvency (D) Profitability
(1v) Preparation of ﬁnanciél statements of a company is :

(A) Voluntary (B) Compulsory

(C) Not essential (D) None of these

(v) On admission of a partner, general reserve appearing in the old
balance sheet is transferred to :

(A) all partners' capital accounts
(B) new partners' capital accounts

(C) old partners' capital accounts

(D) none of these

(vi) Interest on partner's drawings in the absence of partnership deed :
(A) 6% (B) 10%

(C) 8% (1)) No interest
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Fre oGl F \Iﬁi Eﬁﬁﬂ"l : | x7=7
() wEerd e ww @ war E
(i) e 4o wafy N Ot W@ @1 wdg 99 T E
(iii) R IE AT i I o e i U A K4 AR U
gud ¥ dle S ¥
(v) T8 ofy® @ & w@wig al @nd & Ear
(v) s oA afs R @ % fag fFrifm feen amen ®
(vi) G omaR % fagdwm awt __ fagelowr & A A W S B
(vii) aftEata & fa e # fraawar 2|
Fill in the blanks :
(i) Partnership originates with :
(i) In fixed capital method, the capital accounts always show
balance.
(i11) Premium brought by new partner is distributed to old partners in
ratio.
(iv) ——  type of goodwill fetches highest value.
(v) The annual reports of a company are issued to its
(vi) Common size analysis is also known as __________ analysis.
(vii) Sale of property is type of activity.
3w i == 1x6=6
| q |
(i)  FoTEu® (1) 99 el &1
(i) grdear o e (2) oraftE <
(iii) |AF AT ST (3) @ & FORMET
(iv) wmER & & (4) &o & @l
(V) U g @l 9a9l (5) ot W & fye uw H
(vi) siqrasemd (6) wEFEY Ho@ & W H
Match the columns :
A B
(i) Debentureholders (1) Sacrifice by old partners
(i) - Loss on Revaluation (2) Internal liability
(1i1) Equal profit loss sharing ratioc  (3) Creditors of company
) L.oan by partner (4) Owners of company
((:)l) QS::;:’;?; O‘f New partner (5) Dr. side of capital account
' ors (6) Absence of partnership deed
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4 U swAmm § swx dfvo 1x7=7
() oS & oRiee &7 Hear &7

(i) A, B C & @mv fawme sruma %o:%o:%o ¢l
afe C darigd s &, df Fa1 @9 fqere et g -

(i) gmfew WX wuferdl o afdel & Y@ & omu aftad™ & feg @l &
gyfar o &7

(iv) Ret Goh wefar & 4ol @0 & @19 &9 @ G N §9Er A o

(V) mmqﬁﬁwm.mﬁqmwwﬁmmw%a
T 37 >

(vi) mﬁﬁ@%wmw%&mﬁm?
(Vi) ST &1 @ H 9 BhE @w ¥ swiaia fewr s &7
Answer in one word / sentence :

(1) The return on debentures is called -

(i) The profit sharing ratio of A, B and C is %O:%O 5%0_

What will be the new profit sharing ratio if C retires ?

(iii) The change in the value of assets and

liabilities on reconstitution
is recorded in which account ?

(iv) Which account is also prepared alongwith capital account in fixed
capital method ?

(v) How much interest is payable on the loan of a partner in the
absence of partnership deed ?

(vi) On the death of a partner, his claim is transferred to which
account ?

(vii) The balance of share forfeiture account IS trans
account ?
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AT &

(i) wed goh, e Ooh @ ofte @ @edl T

(i) g0 ddm @1 Prfe, O @t @ Rear S ¥

(iv) VEIfyd @Hist @) SBRAG g &6 ®9 W fy@rar W ¥l
(v) wEEE Se & g fEwen § e yare faEt

gitnfea #1

(vi) =oms wiiwE O @ us feem )

Write True / False :

(i) Bank overdraft is transferred to Bank account on the
dissolution of a firm.

(ii) Paid up capital can exceed called-up capital.
(iii) Capital Reserves are created from Capital Profits.
(iv) Proposed dividend is shown as contingent liability.

(v) The financial statements of a business include Cash Flow
Statement.

(vi) Debenture is a part of owned capital.

T HeE w7 )
What is partnership deed ?

sy / OR
TR & wE @ fadwerd frfRegy

1x6=6

Write any two characteristics of partnership. .
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7 WOOWd & F0 OGH % famen @ R @ ofifufial @ owma i

Write any two circumstances when a court can issue order for dissolution
of a firm.

s/ / OR
T & atvad fawes @ % @ oftRafml faflao)

Write any two circumstances for compulsory dissolution of a firm.

8§ O, 7 AW T 4:3:2 & U A WIEER ¥ oFf wagd A @
T T MR I WS & @ @ qeara 5:3 § & @ i e ¥
/Ry U §d ST

Anu, Vanu and Tanu are partners in the ratio of 4 : 3 : 2. Anu retires.
Vanu and Tanu decide to share future profits in the ratio of 5:3.
Calculate Gaining Ratio.

sy / OR

X,Yda Z 3:2: 1% sud # 9@eR ¥ X dafvga &ar & qur Ssaa

Y @01 Z & g 3:2 % AU ° & T wmer ¥\ @ fases
I T FHif

X, Y and Z are partners in the ratio of 3 :2: 1. X retires and his share

is taken up by Y and Z in the ratio of 3 : 2. Calculate new profit sharing
ratio.

9 giadigar % BT § WU & ysi gHEET)

Explain types of debentures from the point of view of convertibility.
Hga / OR
P& & geHv § FOOA F WHR HEHEY |

Explain types of debentures from the point of view of security.
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10 orftrhd ol @ &1 s %7

What is meant by Authorised Capital ?

JqYqr / OR
saTtad Goll & R emeg £ 7

What is Un-called Capital ?

11 qEifter sl & @ fysioand faRaw)
Write two characteristics of Preference Shares.

Fyar / OR
AT ISl W OFT ST 7

What is meant by Share Capital ?

12 3ol & &0 ¥ ¥ o ¥7
What is meant by Forfeiture of Shares ?
s / OR
m—mﬁﬁuﬁﬁﬁﬁﬁﬂﬁﬂﬁmmm%?%@m

Which are two options available with the company on the condition
of Over - subscription ? Write.

13 &1 f 7 & ad\ fa & 3.80,000 v ¥ um wie @ ma fear

HY AIA & ATAN 20,000 T. B T g o 9wl 100 By
& #Hell @ 1T 3% frr smom A fo. @ gEs § smavaw wfafeat
BT |

Shree Lid. purchased a machine worth Rs. 3,80,000 from Heavy Machine
Ltd. As per purchase agreement, Rs. 20,000 were paid in cash and

balance by issue of shares of Rs. 100 each. Give necessary journal entries
in the books of Shree Ltd.

g / OR
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ABC Lud. 3 XYZ Lid. & 540000 % & % W %2 ffm oy ey
T 100 . W@ & ofen & e 20% s wv fefmm wed fig,
ABC Ltd. & gwsl ® amasges wiafear s

ABC Ltd. purchased a building worth Rs. 540,000 from XY7 Lid.
and the payment was made by the issuc of shares of Rs. 100 each issued
at 20% premium. Give necessary journal entries in the books of
ABC Ltd.

14 oo fawwr & @ sgvd feRa)

Write two objectives of Ratio Analysis.

st / OR
s Tagewor & &1 wmd fafagl

Write two limitations of Ratio Analysis.

15 @ gedis’ W a1 e ¥ 7
What is meant by 'Cash Equivalents'?
sga / OR
i Fpamamdl B0 U@ ofdaie b A e fuiea

Write two examples of cash inflows by financing activities.

16 asﬁeﬁrengém:zaaaﬂwaﬁfmﬁzr(%ﬁrwaﬁ%ﬂm?ﬁ 3

fm et & A 2 ¥ P o ol & 3w ol ot & Yo v

wmfaﬂﬂﬂaﬁmﬁzﬁrwﬂ?ﬁm|

Anshi and Ayushi are partners in the ratio of 3 :2. They admit Aman
od 2/ from Anshi and 1/, from Ayushi.
for %0 share which he acquired 7] from Anshi and %0 from Ayushi

Calculate new profit sharing ratio.
syar / OR
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@Wﬁﬂ%@tﬁaﬁﬂfl,oo,oooaweﬁaﬁwaﬁﬁm%aﬂ?
& TER F aaE ¥ whed @ aEe 5 10% @ | aft FEaEd & B

dafid 10.00.000 . @ ol T Faard 1,80,000 . @ ¥ A ol st
oty g wnfa & T Bl

A business has earned average profits of Rs. 1.00,000 during the last
few vears and the normal rate of return in similar business is 10%. If
the Total Assets of business are of Rs. 10,00,000 and external liabilities

are Rs. 1.80.000. then calculate goodwill by capitalisation of super
profits.

17 ﬁm@xﬁ&aB:z%Wﬁﬁmﬁlé%w%mgﬁﬁ

& el ¥ waw 3 ¥ gehw ol ol % fNT 30,000 T wwen ¥ aen
AT T A EsaE G B TR W I%E A A ¥ waw @ R @
W & Tty & gead 24,000 5. g1 12,000 . @ WG E A geia
¥ ouza @ g 31w A gEE ¥ s wfaiedt s

Vimal and Nirmal are partncrs in the ratio of 3 : 2. They admit Sushil

for % share. Sushil brings Rs. 30,000 for his capital and also brings

necessary amount of his share of goodwill in cash. On the date of

admission, the goodwill of the firm is valued at Rs. 24,000. Goodwill
already appears in the books at Rs. 12,000.

Give necessary journal entries in the books of the firm.

sy / OR
k
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Wmﬁ”“z%mﬁ‘m%wﬁWﬁmeﬁ%m

%a%qu%raré?r%‘wﬁwqqﬁa;mm
T VT W ot |
T R

000 3. @ & g a8 srgd am
® @ Fw T 9.000 5. fay

HATs yigfegt Ty |

Sonu and Sandeep are partners in the ratio of 3 : 2. They admit Neeraj for

% share in profits, Neeraj brings Rs. 30,000 for his capital but failed

to bring his share of goodwill in cash. The goodwill of the firm is valued

at Rs. 9.000.

Give necessary journal entries.

AES FUUT F T 9T & ?
What are Bearer Debentures ?

@ / OR
g for. 3 wha o 100 5. % 10,000 Feores w18 Ry | syeper 3 9,000 TG
% fo0 arrdre R <t qofa: ameifedt R g | st TR we e W @ )
ﬁwﬁﬁr.a?rgmaﬁfianaswﬁﬁﬁzﬁa%&m

Shreyas Lid. issued 10,000 debentyres of Rs. 100 each. The public
applicd for 9,000 debentures which were fully allotted. A the money

was received in lump-sum.

Give necessary journal entries in the books of Shreyas Ltd.
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(ifi) et
Under which Heads and Sub-heads (if any) the
in the Company's Balance Sheet :
(i)  Securities Premium
(i1) Bills pavable
(iii) Stock
str / OR

fda fadwo & @ d= g fafae

following ar¢ shown

Write any three limitations of Financial Analysis.

20 H49, W U9 THsT ¥ 01 ofe, 2016 @ wHs: 5,00,000 %, 4.00.000 5 4
qa1 3.00.000 . Ff et WEEIT B T @ | W St e §

(i) @9 w99 3:2:1 %

(i) 9o 9T 6% wiiad @ & ¥ =W @ E|
(iii) @& & amds 1.20.000 € S99 3 ¥
(iv) 9 @& wfaad 50,000 & &HyA & 2 ¥

(v) @®T - w@d 60.000 &, 99 40,000 %,

aar @hat 20.000 &, T

(Vi) Eqw ov @r - @@y 2,700 &, wiq 1,800 & g wHy 900 ®.

i
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Akshay, Bhanu ang Chakresh established partnership firm on 01 April.

f) . . . e -
=016 by investing Rs. 2.00.000, Rs. 4,00,000 and Rs. 3.00.000 as capital.

Other informations are as below

(i)  Profit Sharing Ratio is 3 1201,
(i) 6% p.a.
(111)

mterest is payable on capital.

Akshay to be paid yearly salary of Rs. 1,20,000.

(1v) Bhanu will get vearly commission Rs. 50.000.

(V)  Drawings - Akshay Rs. 60,000; Bhanu Rs. 40.000 and Chakresh
Rs. 20.000.

(vi)

Interest on drawings — Akshay Rs. 2,700; Bhanu Rs. 1,800 and
Chakresh Rs. 900.

The Net Profit as per Profit and Loss Account for the year ending
31 March. 2017 was Rs. 3,56.600.
Prepare Profit & Loss Appropriation' Account.

| Hqqar / OR
aﬁﬂaﬂTWS:z%qumﬁm%lémaﬁm%%m

% Qg T <9 ¥ IS U S 10% =¥ @1 T & 37 &1 aifrg 3 =R
m%mﬁmﬁ%%ﬁwm%qsmmﬁmm,ooo 5.
q %u A€ T RS BgS — & 2,50,000 g 2,00,000 3. sfix
arE 1.50.000 ©. ¥ =¥ B I 9% §olt oX s 3 F qear arey 1,50,000 =.

o7 mi%qmamﬁ:wm@qukl%,ﬂ}m—?ﬁﬁdmwm:
Amit and Babu are partners in the ratio of 3 : 2. They admit Charu for

% share in profits. Interest on capital is payable @ 6% p.a. Amit

pgrsonally guaranteed thal Charu's share of profit after charging interest
on capital would not be less than Rs. 30,000,

Partner's capital were — Amit Rs. 2,50,000; Babu Rs. 2,00.000 and
Charu Rs. 1.50.000. The profit for the year before charging interest on
capital was Rs. 1.,30,000. If lhc.n(-.:w prolit sharing ratio is 3:2 - ]
prepare Profit and Loss Appropriation Account.
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2N oeta, WY g goE wEER ¥ oWy e @ dategd S g

3a fufy B SEE 6,00.000 7. ¥ ¥ TEw 2@ TR & PTEE AT ARE
Rredi ®  @mr TRT WX 12% wivad s & gy fear s
T H HO QAT G B

Ajeet, Mahesh and Suject are partners. Mahesh retires from the firm.
On that date. Rs. 6.00,000 are payable to him. The amount due to Mahesh

will be paid in four yearly instalments with interest @ 12% p.a. on
the unpaid balance.

Prepare Mahesh's loan account.

dur / OR
ol T i % G kg aar §6% @ | e weE ¥y o
yhafteat ffaa |
Write journal entries for the revaluation of assets and liabilities and for
adjustment of its profit / loss on the Revaluation.

22 grﬁw,m%amﬂ106.@6%5,000\3m%,w%mﬂf§148.u%

Sy (2 5. eftge fEd) ol 3 % wam ol sifow @i iy &1 spram =@

Topam) sas el & wuw o eifem A & 9 w107 &Y T T e % BT
#1 ufaiz #ifaa)

4

Surabhi, a shareholder holding 5,000 shares of Rs. 10 each, did not

pay the allotment money of Rs. 4 per share (including premium of

Rs. 2) and the first and final call of Rs. 3 per share. Her shares were

forfeited after first and final call. https://www.mpboardonline.com

Give journal entry for forfeiture of shares.
dua / OR
sigh 9t wrd sftged & ur sgam fafa)

Write the uses of securities premium received on shares
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23 UHE yar frew s ¥ @ 9w @ faRag)

Write any four advantages of preparing Cash Flow Statement.
Jyar / OR

ﬁrﬁaﬂfﬁ%ﬂﬁsmmﬁﬂﬁﬁaimammﬁimﬁrﬁam

Write examples of cash inflows and outflows from Investing activities.
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